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FREGH: Witk 110mLX 1 i, 4°CIRTT.
WA Wik 20mLX1 i, 4CLRAF.
W= WA 15mLX 1 i, 4CROLIRAE.
WA= WA 15mLX 1 i, 4CBEEMRL.
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1. fHY). AL RALRE (g): REUEAEMR(mL)N 1: 5~10 BILf] CEFKENZ 0.1g A,
AN 1mL $REGERD) 3HTUKIB I, SR)5, 10000g, 4°C, B0 20min, HU G E Tk E4RM .

2. 4B, FBE: HEIEE (104 N FREGEAER (mL) N 500~1000: 1 FIELE] (Y 500 Ji4NAE
TN ImL $RERBD , UK HE A IR B R (ThR 300w, B4 3 Fb, ARG 7 #b, KA 3min); 4R)5 10000g,
4°C, B 20min, B EIEE T Uk B,

3. MiFEEEIRE: EEME

WEHfER

1. e /BRI 30min, AT K S 530nm.

2. EefER

BEABETERTEAKX

a. FAWMEAELEILNERTEARDT

FRAERZL: y=0.0242x - 0.0027, R2=0.9980

1. HH.

(1) ZIEFEAR R

BEMBETEE (nmol/g ) = (AA+0.0027)-0.0242 XV Ji = (V FEV FEE XW)X2

=148.76 X ( A A+0.0027) =W

A B =B % (nmol/ g * min) =148.76 X ( A A+0.0027) W - T =7.44 X ( A A+0.0027) -+ W
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(2) HZIRE AR T

BEMBE 48 (nmol/mg prot) = (A A+0.0027)0.0242 XV [z -+ (V FE X Cpr) X 2 =148.76 X ( A A+0.0027)

~—Cpr

HBEHE P2 E . (nmol/ mg prot » min) = 148.76 X ( A A+0.0027) <+ Cpr—T =7.44 X ( A A+0.0027)~+Cpr

2. YHEE, HAE:
ABEBE 758 (nmol/104 cell) = (A A+0.0027)+0.0242X V A +(V FE+V FE& X 40EE) X2

=148.76 X ( A A+0.0027) - 4l 1 ¥ &

AP B TR (nmol/104 cell » min) = 148.76 X ( A A+0.0027) 4l B & =T

=7.44 X ( A A+0.0027)+ 4 B E

3. IMIGEEEFRN
HBEHE T &% (nmol/mL) = (AA+0.0027)+0.0242XV JZH+V FEX2=148.76 X ( A A+0.0027)
ABE BB TP ZE (nmol/mL » min) =148.76 X (A A+0.0027) T = 7.44 X ( A A+0.0027)

VR TIANRIBAARR, 1ml; VR IMNEAR, 036mL; VAR N AFEERAR, 0.2mL; Cpr:
FEAREAJRIRE, mg/mL; W: FERJTE, g5 T: RMKE, 20min; 2:2 40F 02— 5KRMAER 1 5F
NO2—.

b. f 96 FLARMZEKIHHEARMT

FrufEfiZk: y=0.0121x - 0.0027, R2 =0.9980

1. HR:

(D HZRFEAF R

BAEME &R (nmol/g #FH) = (A A+0.0027)+0.0121XV JE+(V FE-V FEE X W) X2
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=297.52 X ( A A+0.0027)+W

A B TP E (nmol/ g » min) =297.52 X (A A+0.0027)+W-T =14.88 X ( A A+0.0027) +W

(2) HZIRE AR T

BAEHE TS E (nmol/mg prot) = (A A+0.0027)0.0121 XV S (V #£ X Cpr) X 2 =297.52 X ( A A+0.0027)
+Cpr A F 72413 % (nmol/ mg prot * min) = 297.52 X ( A A+0.0027) -+ Cpr-T =14.88 X ( A A+0.0027)+

Cpr

2. HE, HE:

A48 (nmol/104 cell) =(AA+0.0027)+-0.0121X V B -(V HE-V FEE X EE) X2
=297.52 X ( A A+0.0027) -+ 4il ¥ &

A B 42 (nmol/104 cell * min) =297.52 X (A A+0.0027) - 4A U & =T

=14.88 X ( A A+0.0027) 4 L 4 &

3. IMFEREEHRE
HEHE T &8 (nmol/mL) =(AA+0.0027)--0.0121 XV KMV X2 =297.52X (A A+0.0027)
A B FreEH % (nmol/mL * min) =297.52X (A A+0.0027) T =14.88 X ( A A+0.0027)

vV OEEE: IINIRBURMAERR, 1ml; vV E: NS, 0.36mL; Vv EE: RMNAFFEMERT, 0.2mL; Cpr:
FEREATRIE, mg/mL; W: FERAE, g T: RMNEE, 20min; 2: 20T 02— 5RMAER 1 4
T NO2—.
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1. OD fHKT 1, FERIESFRAIE, HEiHE A KR UMREE L.
2. FEMHIRLF S, SLZIMEATINGE, TE 20RO S HEAT K B BRI DR A7, DGR il E 45 2R

3. BURPUA —E R EE, TR LT b i .



